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Iy mwn: the props holding up the bread (1a710)
a  “Props”: there were four golden props branched at the top, 2 for each 77v of bread
i Source (’rvp *7): v. 1 —refers to molds, cups (for na5), props and dowels
ii ~ Challenge (x17): if these are n"nn, why aren’t they naw nmT?
iii Answer (837): per ™ — since it could be taken down before (and reset after) naw, doesn’t trump
1 Explanation: reason for dowels is to keep bread fresh; it won’t go bad from v"y to naw or naw to v”xn
2 Support: Rn»a describing how they would slide dowels out on v”y and put them in between loaves on w”¥n
b Dowels: 28 hollowed dowels, 14 for each 170 (3 above rows #1, #2, #3, #4 — and 2 above row #5 —none on top of #6)
¢ nmaw removing and setting up this structure does not trump naw
i Rather: they would come in and remove it on v"y and lay them to the length of the jnbw
ii  Rule: all %3 in the wTpn were set up lengthwise with the length of the w1pn
II Tangential discussion — dispute n”v/nTn’ "1 about size of |NYw
a  »77all mnRin w1 were “middling” (6 oY) except for golden altar (1x1), capstone, 2210 and 7o’ of nwMn nam
b »7 all structural mnR were 6; 0’93 were 5
i pnpr 7. disagreement anchored in v. 2 (refers to “short” nnr of 5, per navy NR=nnNR), pn=foundation;
an=parapet (1210); NNaW YR=capstone; Narnn 2=golden altar
1 »7: these are the only 5T measures; all else are 6 (including n>v)
2 »”r these are a model for all 93 — all are 5 (including jnYvw)
ii ~ Consideration: this meant that from 710> up to 1270 was 5A of 5T (narn total — 54, since 11p is also 5T)
1 Rejection: midpoint would be at 27T; but 2210 is at 30T, and it must be 1A above midpoint (per xn»92)
iii Reconsideration: perhaps all these measures are depth
1 Rejection: if so, nam telescopes in from 32A-30A-28A; but then it would be 32A-30.3A-28.6A
(a) And: ‘tho that still totals less than an nnR, once we lessen width of nip, top is 27A, not 26A
(b) And: if we consider that insignificant, but the 0’03 have 1A for walking; 24 in the middle for n>yn
(i) And:thatis a tight measure, per v. 3
(if) And: if we were to argue that all of these mnx are 5T, then the n71y is now bigger than it should be
iv  rather: o is height; but 5A up to 2110 are 6T, 2210 is 5T in depth, 17p could be either
1 Conclusion: nam is 58T high; midpoint is 29T, which is 6T (1A) below 2110, which is at 35 ( [5x1] + [6x5])
2 Proof: from wording of myoa, which identifies 2270 as amn
¢ Tangent: n™ referred to 111 nny, implying a larger one
i Identity: two nnR-measures in "n7an jVW” (office in NY) 1 an nnR+ %% paxy; the other nnr+yaxn
1 Purpose: for workers to take using smaller one and pay out using larger one — to avoid n%yn
2 Tangential explanation: of image of nan 1V, leading to further tangent about ma%n nnr (vv. 4-5)
d  Tangent: therapeutic effects of leaves mentioned in v. 6
III  Justification of 3 numbers given in NN for o»an onY (12 loaves, 2 017, 6 loaves per 110) —v. 7
a  If: we only had 12 loaves and 2 sets, we might have allowed one of 8 and the other of 4 (e.g.)
b And if: we only had 2 sets and 6 per set, we might have allowed 3 sets of 6 (total 18)
¢ Andif- we only had 12 and “sets”, we might have allowed 3 sets of 4 each
i Therefore: if they placed 3 sets of 4 — invalid
ii  But: if they placed 2 sets of 7 each:
1 »27 we ignore top one — valid
(a) Challenge: we require placing the 115 atop the bread (v. 8)
(b) Defense: a1 is consistent with his own approach; *»»” means “adjacent to” — per v. 9

www.dafyomivicc.org 83 © Yitzchak Etshalom 2011




